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Plan C2 project in VHDL requires D_FF.vhd, T_FF.vhd, MUX_2.vhd and the top Circuit_P1.vhd files. For testing
purposes, the testbench file Circuit_P1_tb.vhd is also required.

The circuit can be solved, as usual, using three methods: handwritten, Proteus and VHDL. This solution includes all
the required files. The circuit works in the range of ns, where an apparent “glitch” is enough for driving the T_FF.

Functional simulation is not giving a clear sight of what is happening in the circuit. Thus, using gate-level simulations
and trying different target chips (MAX Il CPLD, Cyclone IV FPGA, MAX10, FPGA, etc) may give you a better
comprehension on how this circuit works.

Preparing a laboratory prototype on a protoboard, for instance using CMOS classic technology chips like in Proteus,
is also interesting in this case.

This is the circuit and the timing diagram from Proteus:



https://digsys.upc.edu/csd/exams/EX2/2122Q1_EXA2_Circuit_p1.pdsprj
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This is the timing diagram from Quartus Prime project and ModelSim targeting a MAXII CPLD device (project files
available in DIGSYS).
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A1, B1 and C1 are buffered port copies of the internal signals


https://digsys.upc.edu/csd/exams/EX2/2122Q1_EXA2_Circuit_P1.zip
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